ERRATA.

P. 5. Table 1. The land and water areas of Saskatchewan are 243,381 and 8,319 sq.
miles respectively, instead of 242,808 and 8,802, The corresponding areas of

Canada are 3,603,909 and 125,756 inatead of 3,603,336 and 126,329, as given
in the table.

P. 25. The longitude of Saskatoon seismological station should be 106° 30' W. instead
of 106° 40’ W,

The registration of the Victoria Station should be correct to £ .1 sec. instead of
correct to + 1 seo.

P. 171. Table 30. The urban population of Canada in 1921 should be 4.35'2.442
instead of 4,352,402.



